January 31, 2012

5.1 Fundamental Identities

What does the word identity mean to you?
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Identity: #45

equality that is true for all values of the domain for
both expressions as long as they are both defined

tan @ecos =sinlf

this is true for all@, as long as sinO, cosB, and
tan® are defined
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Reciprocal & Quotient Relationships

sin@ = :
cscd
cosf = 1
sec
|
tan @ =

cot &

cscl = —
sin @
1
sect =
COS
|
cotd =
tan

tan @ =

cotd =

sin @

cos @

cos &

sin &
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9‘“93\5 P=X = |
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Pythagorean Relationships

x2 _I_y2 :7"2

&nzﬁﬂoszé’:l

—

sin“@ =1-cos* @

cos’@ =1-sin* @
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sin” @ +cos”* 6 =1
oo CoCe wg’eL
sine\” YA
(5359} t+1 = (('0&'7‘)
2
(1.4 N e’) 1“' — ﬁfCG)L
[ fano+1= %o |
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Pythagorean Relationships

E‘F tan” @ = sec’ @

] =sec’* @ —tan* 6

tan* @ =sec* @ —1
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sin® @ +cos* 0 =1

Gine gine- Cin

]1 +cot’ @ =csc* @

1=csc’@—cot* O

cot’ @ =csc’ @ —1
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Pythagorean Relationships
.« 2 2
sin“@+cos”“ =1
2 2
l+tan“ @ =sec” @

1+cot’@ =csc* 0
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Co-Function Identities

sin(E —0)=cosl r::ros(E —60)=smd6
2 2
tan(% —6)=cotf cot(g —0)=1tand

sec(% —@)=cscl csc(% —0)=secl
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Odd/Even Identities
| cos(—x) =cos x
VAR ENEN
| sec(—x)=secx

V\ sin(—x) =—sIinx ODD

csc(—x)=—cscx

tan(—x) = —tan x ODD
/ cot(—x)=—cotx
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Simplify:

sinxese(—x) =SINX(~CLx) = W%)ﬁ
cot xtan x %M = \B

—
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Perfect Squares:

> 2
x> —8x+16 =(¥-1)  x*+14x+49

(x+7)
sin” x —10sin x + 25 :‘} \O\f) -4
Slhx=Y (Y9 (6"\)( x
cos” x+16cos x + 64 ((/0‘:’3(Jr )

(0Se-=§
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Difference of Squares:

¥ —16 () x2 =49 (x+ 7))

] —x° ] —sin” x= (\-Gihﬂ (\’fgh’()
(=X)i+x)

SIN” X — COS”~

v (6% o)t 0
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Simplify:

1—-cos

fHSM

‘x _ (\_w%l%)‘= I—we;
1+cosx - | 45K L/l

_I_

L (e O

—sinx

( HSiny)
2.

‘Lx
‘ [~an
1+s1n x“ @“”

\.(.gwﬁi'\ MX -FQ;—H\_’?
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Solve the Equation for[0,27) Yv-Y =X
Ylx- N=X
tan xsin” x = tan x _ ‘
—anx X Lanx =0| ¥=0f
PIENXTXE0  Gity=D
nx(%m X-\)=O T4t
VAN Gin*x= ! \ oS
0 0 Gif\x_—t \ G
—%nj)r( :\0) %ﬁndd\m
i N
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Reat#t's =

Complects= (\\ =0t
ln'tfﬂar =) &

(ationa [ #'5=




